
3/11/24, 9:21 AM SelectTech 1090 Dumbbells: &nbsp;Are my dumbbells part of the product recall?

about:blank 1/4

SelectTech 1090 Dumbbells:  Are my dumbbells part of the product
recall?

Follow this troubleshooting guide to help identify whether your SelectTech 1090 Dumbbells are part of the product recall.

Some common complaints may include:

Weight plates dislodge
Weight plates only engage partially
Safety recall on handle

 
Follow these steps to troubleshoot the issue

1. Rest your dumbbell in the base. Turn both adjustment knobs to the lowest weight setting. You should be able to
remove the handle from the base, leaving all weight plates in the cradle of the base.

2. Check the red inner plastic area near each adjustment knob for a black dot sticker (reference 1). The presence of a
black dot sticker indicates that the handle has already been upgraded and does not need to be replaced [12140.A].

(Reference 1)

The black dot is seen on the red plastic inner part of the dumbbell, indicating that this handle has replaced the recalled handle.

3. Place the dumbbell back in the base and turn the adjustment knobs to the highest weight setting. You should be able
to remove the handle from the base with all weight plates attached.

4. Carefully set the dumbbell on the floor. Turn the base over and look for the serial number labels on the bottom of the
base. The serial number includes a code for the date of manufacture (reference 2). If the date code in either serial
number falls within the 1111-1136 range, your dumbbell handle is part of the product recall and must be
replaced [12140.B]. 

(Reference 2)

ID: 12140.2



3/11/24, 9:21 AM SelectTech 1090 Dumbbells: &nbsp;Are my dumbbells part of the product recall?

about:blank 2/4

Only dumbbells with serial number date codes between 1111 and 1136 were manufactured with the recalled handle.

5. If it's been determined an upgraded replacement handle is necessary, order a 1090 Dumbbell
Handle [12140.C]. Please contact Customer Care to order your replacement handle at no cost if one has not been
sent to you already. You do not need to have purchased a warranty or provide proof of purchase to order the
safety upgrade.

6. Discontinue use of your current dumbbell until you receive the replacement handle. Dispose of the recalled handle
once you have installed the replacement. Installation instructions are included with the replacement handle but can
also be downloaded here:  1090 Replacement Handle.pdf 

 
Need to order replacement parts?

1 Customer Care Contact Information

Please contact Customer Care at 1-800-605-3369 for additional help or to order replacement parts.
Some replacement parts may also be available for purchase online here. 
A list of part numbers referenced within this guide can be located at the bottom of this page.
 
Customer Care - Hours of Operation:
Monday - Friday 6:00am - 5:00pm PST
 
The replacement part will be provided to you at no cost assuming your machine meets the warranty eligibility
requirements. A Customer Care Agent will be able to assess your current warranty eligibility and provide you with your
options.
Please note that if you did not purchase your machine directly from BowFlex, Schwinn, or Nautilus, we will need a copy
of your purchase receipt in order to register your machine for warranty.

2 Product Recall Identification:  SelectTech BD1090 Dumbbell Handle

https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?noStatistic=true&callFromKminer=true&showMenu=false&showButtons=false&entity.GUID=4dc630cc-ee8d-478g-9gc0-8fd25g8g2b24&mandatorKey=MANDATOR_USU#Parts
https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?noStatistic=true&callFromKminer=true&showMenu=false&showButtons=false&entity.GUID=4dc630cc-ee8d-478g-9gc0-8fd25g8g2b24&mandatorKey=MANDATOR_USU#Parts
https://bowflex.cloud.usu.com/knowledgebase/openAttachment.do?entity.id=12140&mandatorKey=MANDATOR_USU&att.author=Ault%2C+Nichole&att.description=&att.fileName=1090+Replacement+Handle.pdf&att.mimeType=application%2Fpdf&att.creationDate=1635379143167&att.fileSize=1336239&att.id=11692&att.isPartOfHTML=true&att.isDocument=true
https://www.bowflex.com/replacement-parts/


3/11/24, 9:21 AM SelectTech 1090 Dumbbells: &nbsp;Are my dumbbells part of the product recall?

about:blank 3/4

3 Upgrade Required: 8000023



3/11/24, 9:21 AM SelectTech 1090 Dumbbells: &nbsp;Are my dumbbells part of the product recall?

about:blank 4/4

1. Tell the customer: "Thank you for your information. I'm processing your order for two replacement handles.
Please discontinue use of your current 1090 SelectTech Dumbbells until you receive the replacement handles.
Instructions for the replacement will be included with your order. Your order should ship by [Quote Promise
Period]"

2. Order SKU 8000023 1090 Replacement Handle using the Create a Free Item Order process.

1. (Reminder: warranty and proof of purchase are NOT required)

3. Copy the previous script into the file notes using the Free Item Template

4. If customer needs the installation guide, click 1090 Replacement Handle.pdf to download a PDF copy. The
customer will receive a hard copy along with the parts themselves.

4 Parts Reference Table
 
Part Description Part SKU

1090 Dumbbell Replacement Handle 8000023

Warranty and proof of purchase are not required to order this safety upgrade.

5 Contact Tech Team / Advanced Troubleshooting

If the issue was not resolved in the steps listed, contact the Tech Team or send an Advanced Troubleshooting
case.

Submit a Case with case type Advanced Troubleshooting

https://bowflex.cloud.usu.com/knowledgecenter/docShow.do?isReference=true&isPartOfHTML=true&entity.id=220&entity.GUID=2126g94c-67be-4185-87g1-57de16c3b4g1&mandatorKey=MANDATOR_USU
https://bowflex.cloud.usu.com/knowledgebase/openAttachment.do?entity.id=6472&mandatorKey=MANDATOR_USU&att.author=Garrett%2C+Shawna&att.description=&att.fileName=1090+Replacement+Handle.pdf&att.mimeType=application%2Fpdf&att.creationDate=1569602590440&att.fileSize=1336239&att.id=5852&att.isPartOfHTML=true&att.isDocument=true

